il in the planks-
+5000:65L\8

[
q260+/'q%0
SH6= 3H6

equation that

olve the problem

FOURTH GRADE

ADDITION

WITH SUMS TO 10,000

Use left-foright addition to
solve
4358+232=
6+32=

Created by Shelley Gray




About this Resource

This resource includes 24 task cards to reinforce addition with sums to 10,000. Students will use
these fask cards fo practice this concept in a variety of different ways, including missing addends,

true/false, number lines, problem-solving, and more.

For more information on effective strategies for addition that will fake your teaching fo the next

level, please refer to this post on my website:

www.ShelleyGray Teaching.com/effective-strategies—for-teaching-addition-facts

== =

dd

itio N Are you looking for even more support with teaching addition strategies in
STA”O'\é your classroom? The Addition Station will transform your teaching, allowing
your students fo master addition facts and strategies at their own pace. Find
the Addition Station here:
httos://www.teacherspayteachers.com/Product/The-Addition-Station-First-

Grade-1/81284

Shelley Gray

I'd love fo help you get redlly strategic with your math instruction this year!
Join me over on my website, ShelleyGray Teaching.com for ideas, tips, and

resources!

http://shelleyarayteaching.com/




This resource includes...

Twenty-four task cards to practice addition with sums to 10,000 in a variety of different ways:

Fillin the blanks,

___ +H00=1560
|000+____=6767
__ +0=9093

9260+,

SH89+3000=,
258+2000+=
7712+1000=

87+23=
1276+1343=

279+234%=,

= +4000-4552

5478+4000- 2000+___=4300
b 324+1000-____ +|000=1029
Solve: Fi-fo-right addition fo Write the nur at is

300 more than 5664

Write the number that is:

700 more than 1954

Recording sheets fo keep

students organized.

“ Recording Sheet - Page | o n . : -Page 2 B Page3 > =
Show Nur 8n Nurmber 100 More | 1000 More
; 65
i 1092
442
[}
4358+1232= 87+23= +5000=6548
376+321= ji 4+ 1276+1343= P60+ =9860
58+43- ' 594 279+234= +546=3546
um Eay ”‘
5489+3000=
258+2000=
7712+1000= Y6l
Q| [ vour vork
+400=I560 765 2543 649+12= +4000=4552
1000+ 6767 5478+4000= 2000+ =4300 ‘
+0=9093 o 324+1000= +000=1029

+546=3546




Answer keys to make self-checking a breezel

I ANSWER KEY o — e [ ANSWER KEY | Narber ] 100 Mere | 000 M
. 1 - 765 S 5 ) 165 | 1065
p” e 2 | 20%2
B3 | 1363 SH2 442
work G}
4358+232= (¥~ (N 87+23- g 48 450006518
376+321= e : 960+_600 =9860
58+43=_ o 5 2794234513 +546=3546
work n
Eau
5489-3000- 848 . ‘ fm
258+2000=_2258
1 |[77024000- 46l
Show
160 +400=1560 0) 000 64+12=_ 661 552 +4000=4552
1000+ =6767 5478+4000=2H/8 2000+2300=H300 55
13+10=9093 200002 _29_+1000-=1024

www.ShelleyGray Teaching.com




